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1) y"+(') +1=0, ¥(0)=1, y(1)=2.

Ortser: y:i\/Cl—(x +C2)2 L y=45—(x—-2)*.

2) ¥ 2" 12y -2y +y =cos2x,

y<0)=y(7r)=%, y'(0)=%, y'(n)=22—5

: 4 . |
OtBet: y=Cie” +Cyxe™ +Cycosx +Cysinx +—sin2x + —cos2x
. 4 . 1
y=—sinx + —sm2x + —cos2x .
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3) y'-2y"'-3y=0, y(0)=1, Ilim y(x)=0.
X—>+0

X

OtBer: y=Cie™* +Cre™, y=e~.
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4) 4y"+8y"+ Ay=0, y(0)=y'(2)=0.
OtBer: A, —pemenus ypaBHeHus 1gvA—4=05vVA-4 (4 #4),

J —4
yk=Cexsin[ ikz xj.

5 y'+4y'+y=0, y'(0)=y'(1)=0.
OrtBer: ﬂ,k:4+(7zk)2, yk:Ce_zx[cosmkx +%sin7zkx] keZ, k#0:;
Ao=0, y,=C.



